
1

ASSEMBLY INSTRUCTION

Height adjustable wall mount „Lite“ 
with 50 cm of vertical travel

SCETA-LITE

CO
NE

N/
01

/2
02

0

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com



2

A B

1

2

3

7

4

5

6

E G

C C

5

2

D

F

4 x M8 x 16 4 x M6 x 16

6

3

4

1

7

PACKAGE CONTENTS

Center column

Leveling feets

Remote control

Upper bar

Power cable

Lower bar

Brackets

2 x M8 x 85  
Lenshead Allen  

screw with flange

2 x M6 x 30 
Lenshead Allen 

screw with flange
Lenshead Allen screw with flange

Depending on the display

2 x 
Sliding block

1 x 
Adhesive strip

2 x 
Z-Bracket

2 x M8
Self-locking nut

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com



3

1 2

3 4

C

5

C

1

2

6.1 6.2

5

Display 

5
5

3

4

4

5

4

1

4

3

3

1

A

MOUNTING INSTRUCTIONS

Attent the 
position!

Long holes 
must face 
downside.

Attent the 
position!

Long holes 
must face 

upside.

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com



4

7 8

6

6

G

6

9

7

MOUNTING INSTRUCTIONS

5-pole plug
(column)

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com



5

10

F

100 mm / 4.0"

150 mm / 5.9"

1011

D

1 1

D

1112

DF

12 1313 14

E

D

E

D

F

MOUNTING INSTRUCTIONS

Wall mounting material 
not included

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com



6

15

2

MOUNTING INSTRUCTIONS

Align by turning

Stirling Communications Supply Co | 29 Poplar Drive, Stirling NJ 07980 | 908-604-9360 | sales@stirlingcomm.com | www.stirlingcomm.com




